
Product and industrial design 

QUESTION 1 

  

Design Thinking is sometimes visualized as a linear process, but it is 

actually 

Option A Impactful 

Option B Incapacitating 

Option C International 

Option D Iterative 

 

QUESTION 2 Design A costs Rs 200000 today and pays back 220000 in 10 years. Design 

B costs Rs 10000 now and pays back Rs 10000 each year for 3 years. If 

inflation rate is 10% p.a. Which design is more profitable?(taking inflation 

in account ) 

Option A Design A 

Option B Design B 

Option C Both A & B are same 

Option D None of the above 

 

QUESTION 3 Mining is which type of industry 

Option A Primary 

Option B Secondary  

Option C Tertiary  

Option D All of the above 

 

QUESTION 4 The period in Greek art from 4th -2nd century BCE considered as. 

Option A Classical period 

Option B Hellenistic Period 

Option C Archaic Period 

Option D None of the above 

 

QUESTION 5 Occupational Ergonomics don’t include __________ in workplace 

Option A  Economic incentives 

Option B  Fatigue 

Option C  Poor job design 

Option D  Anthropometric 

 


